mean

# PXL hits vs eta

<pixel hits>

.....................................................................

Ratio

H

0.95

+++++++++++++ +++++++++++++++++++++++M+++++++++~

=3

516 i 23
n

>

| mean # PXL Layers with measurement vs eta

N

<pixel layers>
= N w ]
)] N 6] w 6] S 6]
I I

.....................................................................

-

o+

Rati

=

0.95

I

mean

# STRIP hits v

—=— DQM_V0001_R000000001__ Global
—e— DQM_V0001_R000000001__Global

__CMSSW_X_Y_Z__ allNODNN
__CMSSW_X_Y_Z__all

<strip hits>

T SRR RN S A -
R HEC o s S S
T T
12t A

B0f

L.

Ratio

8
e
L

Lt

i

[11]

0.95

[T

[T

-3

510 12 3

<strip layers

N T o T e

] RS MR BN SN ) S

Ratio

[11]

Lol

+ + p

T

hp”"l |I|TI

e B

;



	Contents
	Page 1


